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Two Dimensional (2D) Collisions

In order to solve two dimensional
collision problems, write a conservation
of momentum equation for the horizontal
components of the momenta and a
conservation of momentum equation for
the vertical components of the momenta.



A 4.0 kg object is travelling south at a speed of 2.8 m/s when it
collides with a 6.0 kg object travelling east at a velocity of

3.0 m/s. If these objects stick together upon collision, at what
velocity do the combined masses move? 2.1 m/s [E 320 §]
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A 15 kg object explodes in to three pieces numbered 1, 2, and 3. The velocities
of piece 1 and 3 are labeled below. Calculate the velocity of piece 2. Diagram is

not to scale. y ?TDT 3( QUV'Q_ =0 kj W\/
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Example: A 6.0 kg object, A, moving at a velocity of

3.0 m/s east collides with a 6.0 kg object, B, at rest. After the

collision, A moves off in a direction 40.0° to the left of its original

direction. B moves off in a direction 50.0° to the right of A's

original direction. What is the magnitude of the velocity of each
. Pl r) ' — ! =

object after the collision? (v, N 2.3 m/s, VBp,&S‘.l‘,'g m/s)
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